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Directions:

Today you will be taking the Ohio Grade 7 Mathematics Achievement Assessment. 
Three different types of questions appear on this test: multiple choice, short answer 
and extended response. 

There are several important things to remember: 

1. Read each question carefully. Think about what is being asked. Look carefully at
graphs or diagrams because they will help you understand the question. Then,
choose or write the answer you think is best.

2. Use only a #2 pencil to answer questions on this test. You may use a calculator on
this test.

3. For multiple-choice questions, fill in the circle next to your answer choice. Mark
only one answer for each question. If you change your answer, make sure you
erase your old answer completely. Do not cross out or make any marks on the
other choices.

4. For constructed-response questions, write your answer neatly, clearly and only in
the space provided in your Answer Document. Any responses written in your
Student Test Booklet will not be scored.

5. Short-answer questions are worth two points. Extended-response questions are
worth four points. Point values are printed near each question in your Student Test
Booklet. The amount of space provided for your answers is the same for all 
two- and four-point questions.

6. You may use the blank areas of your Student Test Booklet or the optional grid
paper in your Answer Document to work out and solve problems. Do not tear out
the optional grid paper from your Answer Document. 

7. If you do not know the answer to a question, skip it and go on to the next
question. If you have time, go back to the questions you skipped and try to
answer them before turning in your Student Test Booklet and Answer Document.

8. Check over your work when you are finished.
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Instrucciones:

Hoy participarás de la Prueba de evaluación de matemáticas de 7.° grado de Ohio.
En esta evaluación, aparecen tres tipos diferentes de preguntas: de opción múltiple, 
de respuesta corta y de respuesta extendida.

Existen varios detalles importantes que debes recordar: 

1. Lee atentamente cada pregunta. Analiza lo que se pregunta. Observa con
atención los gráficos o diagramas porque te ayudarán a comprender la
pregunta. Luego, selecciona o escribe la respuesta que consideres correcta.

2. Para responder a las preguntas de esta evaluación usa solamente un lápiz N.º 2.
Para esta prueba, puedes usar una calculadora.

3. Para las preguntas de opción múltiple, completa el círculo junto a la opción 
de respuesta que hayas elegido. Marca solamente una respuesta para cada
pregunta. Si cambias tu respuesta, asegúrate de borrar completamente la 
marca anterior. No taches ni hagas otro tipo de marcas en las demás opciones.

4. Para las preguntas cuyas respuestas debes elaborar tú mismo, escribe de manera
clara y ordenada, y solamente en el espacio proporcionado en el Documento
de respuestas. Todas las respuestas que escribas en el Cuadernillo de evaluación
del alumno no se calificarán.

5. Las preguntas de respuesta corta valen dos puntos. Las preguntas de respuesta
extendida valen cuatro puntos. El puntaje se indica al lado de cada pregunta 
en el Cuadernillo de evaluación del alumno. El espacio que se proporciona para
las respuestas es el mismo, independientemente de si se trata de preguntas de
dos o cuatro puntos.

6. Puedes usar los espacios en blanco del Cuadernillo de evaluación del alumno o
el papel cuadriculado opcional que está en el Documento de respuestas para
resolver los problemas. No arranques el papel cuadriculado opcional del
Documento de respuestas. 

7. Si no conoces la respuesta a una pregunta, puedes saltarla y seguir con la
pregunta siguiente. Si tienes tiempo, regresa a las preguntas que dejaste sin
responder e intenta responderlas antes de entregar el Cuadernillo de evaluación
del alumno y el Documento de respuestas.

8. Revisa todo tu trabajo cuando hayas terminado.
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Items 1–2 have not been slated for public release
in 2010.
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Las preguntas  a la  no han sido marcadas
para ser hechas públicas en el 2010.
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3. The density of an object can be found by
dividing its mass by its volume. 

Which unit could represent the density of 
an object?

A. grams per square meter

B. grams per cubic meter

C. square meter per gram

D. cubic meter per gram

754; 7M0000MGAXL0481B

FT Form E OC04 (34)

4. A table is shown.

How does the y-value change as the
x-value increases?

A. The y-value is double the x-value. 

B. The y-value is 4 times the x-value. 

C. The y-value is 2 more than the x-value. 

D. The y-value is the square of the x-value. 

15728; 7M0000AXMXL2802D

FT Form D Sp08 (13)

yx
2
4
6
8

10

4
16
36
64

100
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3. La density de un objeto se puede obtener
mediante la división de su mass por su volume.

¿Cuál de las unidades podría representar la
density de un objeto?

A. gramos por metro cuadrado

B. gramos por metro cúbico

C. metro cuadrado por gramo

D. metro cúbico por gramo

754; 7M0000MGAXL0481B

FT Form E OC04 (34)

4. A continuación se muestra una tabla.

¿Cómo cambia el valor de y a medida que
el valor de x aumenta?

A. El valor de y pasa a ser el doble del 
valor de x.

B. El valor de y pasa a ser 4 veces el 
valor de x.

C. El valor de y pasa a ser 2 más que el
valor de x. 

D. El valor de y pasa a ser el cuadrado del
valor de x. 

15728; 7M0000AXMXL2802D

FT Form D Sp08 (13)

yx
2
4
6
8

10

4
16
36
64

100
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5. The seventh graders set a goal to collect 
250 cans for their school’s food drive. They 
collected 275 cans. 

What percent of their goal did they collect?

A. 75%

B. 91%

C. 110%

D. 125%

2760; 7M0000NXIXM0913C

FT Form L Sp05 (23)

Item 6 has not been slated for public release in 2010.
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5. Los alumnos de séptimo grado se ponen como
objetivo recolectar 250 latas para su colecta
escolar de alimentos. En total recolectan 
275 latas.

¿Qué porcentaje de su objetivo lograron
alcanzar con lo que recolectaron?

A. 75%

B. 91%

C. 110%

D. 125%

2760; 7M0000NXIXM0913C

FT Form L Sp05 (23)

La pregunta número 6 no ha sido marcada para ser
hecha pública en el 2010.
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7. A triangular tile is shown. 

Patrick needs another tile that is congruent 
to this tile for the design on his kitchen wall. 

Which tile is congruent to the original tile? 

A.

B.

C.

D.

12162; 7M0000GXGXM1915D

FT Form D Sp08 (15)

36o103o

12 cm

36o

36o

12 cm

103o

12 cm

36o

12 cm

12 cm

36o 41o

12 cm
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7. A continuación se muestra un 
azulejo triangular.

Patrick necesita otro azulejo que sea
congruent con ese azulejo para que 
quepa en la pared de su cocina.

¿Cuál de los azulejos es congruent con el
azulejo original?

A.

B.

C.

D.

12162; 7M0000GXGXM1915D

FT Form D Sp08 (15)

36o103o

12 cm

36o

36o

12 cm

103o

12 cm

36o

12 cm

12 cm

36o 41o

12 cm
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Items 8–9  have not been slated for public release
in 2010.
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Las preguntas  a la  no han sido marcadas
para ser hechas públicas en el 2010.

8 9 
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10. Jeff measured the length of a straw, as shown.

Which is the best estimate for the length of 
the straw?

A.

B.

C.

D.

12040; 7M0000MXDXL1809C

FT Form D Sp07 (27)

5
16

3 inches

3
4

3 inches

9
16

3 inches

3
8

3 inches

1 2 3 4Inches

11. Jasmine wants to rent a bike while she is on
vacation. The rental fee is $8.00 plus an
additional $2.50 for every hour the bike 
is rented. 

In your Answer Document, construct a table
to show the total cost of renting a bike for 
1, 2, 3, 4, and 5 hours. Then, write an
expression that Jasmine can use to find the
total cost of renting a bike for any number 
of hours.

12201; 7M0000AXBXM1950S

FT Form A Sp07 (26)

For question 11,
respond completely
in your Answer
Document. (2 points)

Item 12 has not been slated for public release in 2010.
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10. Jeff midió la longitud de una pajita, como se muestra 
a continuación.

¿Cuál es el mejor cálculo de la longitud de la pajita?

A.

B.

C.

D.

12040; 7M0000MXDXL1809C

FT Form D Sp07 (27)

5
16

3 pulgadas

3
4

3 pulgadas

9
16

3 pulgadas

3
8

3 pulgadas

1 2 3 4 Pulgadas

11. Jasmine quiere alquilar una bicicleta mientras
está de vacaciones. El precio del alquiler es
de $8.00 más un adicional de $2.50 por cada
hora de uso.

En tu Documento de respuestas, confecciona
una tabla que muestre el costo total del
alquiler de una bicicleta durante 1, 2, 3, 4, y 5
horas. Luego, escribe una expresión que
Jasmine pueda usar para calcular el costo
total del alquiler de una bicicleta durante
cualquier cantidad de horas.

12201; 7M0000AXBXM1950S

FT Form A Sp07 (26)

Debes responder a
la pregunta 11 de
manera completa
en tu Documento 
de respuestas. 
(2 puntos)

La pregunta número 12 no ha sido marcada para ser
hecha pública en el 2010.
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13. The heights of the 22 students in Beth’s class
are shown.

Beth decides to create a histogram to display
the data. She wants her histogram to have
either five or six bars.

What should the interval of student heights be
for each bar of the histogram?

A. 1 inch

B. 3 inches

C. 6 inches

D. 15 inches

12288; 7M0000DXEXM2036B

FT Form H Sp07 (24)

55 55 56 56 56 57 59 60 61 61 61
61 62 62 64 64 65 65 67 69 69 70

Heights (inches)

Item 14 has not been slated for public release in 2010.
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13. A continuación se muestra la estatura 
de los 22 alumnos de la clase de Beth.

Beth decide crear un histogram para 
reflejar los datos. Desea que su histogram
tenga cinco ó seis barras.

¿Cuál debería ser el intervalo de las 
estaturas de los alumnos para cada barra 
del histogram?

A. 1 pulgada

B. 3 pulgadas

C. 6 pulgadas

D. 15 pulgadas

12288; 7M0000DXEXM2036B

FT Form H Sp07 (24)

55 55 56 56 56 57 59 60 61 61 61 
61 62 62 64 64 65 65 67 69 69 70 

Estatura (pulgadas)

La pregunta número 14 no ha sido marcada para ser
hecha pública en el 2010.
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15. Oakland has an elevation of 1,639 feet
above sea level. Lake Enriquillo’s elevation is
149 feet below sea level. 

What is the difference in altitude between the
two locations?

A. 1,341 feet

B. 1,490 feet

C. 1,788 feet

D. 1,937 feet

2658; 7M0000NXIXL2711C

FT Form F Sp07 (24)

16. Seven blocks are arranged below.

In your Answer Document, draw this figure
from three different perspectives: from the
front, from the top, and from the right side.
Label each drawing.

Now draw the bottom view of this figure 
and compare it to the top view.

2928; 7M0000GAIXH1021E

FT Form E OC04 (21)

Front View
For question 16,
respond completely
in your Answer
Document. (4 points)
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15. Oakland tiene una altitud de 1,639 pies sobre
el nivel del mar. La altitud del lago Enriquillo
es de 149 pies por debajo del nivel del mar.

¿Cuál es la diferencia de altitud entre las dos
ubicaciones mencionadas?

A. 1,341 pies

B. 1,490 pies

C. 1,788 pies

D. 1,937 pies

2658; 7M0000NXIXL2711C

FT Form F Sp07 (24)

16. Hay siete bloques ordenados como se
muestra a continuación.

En tu Documento de respuestas, dibuja esta
figura desde tres perspectivas diferentes:
desde el frente, desde la parte superior, 
y desde el lado derecho. Identifica cada
uno de los dibujos.

Ahora, dibuja la vista inferior de esta figura 
y compárala con la vista superior.

2928; 7M0000GAIXH1021E

FT Form E OC04 (21)

Vista frontal

Debes responder a
la pregunta 16 de
manera completa
en tu Documento 
de respuestas. 
(4 puntos)
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17. There are two piles of number cards. One pile
has four cards and one has three cards. The pile
with four cards contains cards numbered 
2, 4, 8, and 15. The other pile contains cards
numbered 1, 4 and 9. 

One card is picked randomly from each pile.

What is the probability that the sum of the
numbered cards is greater than 12?

A.

B.

C.

D.

10229; 7M0000DAHXM1566C

FT Form H Sp06 (12)

6
12

5
12

4
12

3
12

18. The figure below is formed by a rectangle
and a semicircle.

What is the approximate area of this figure?

A. 228 square feet

B. 285 square feet

C. 341 square feet

D. 454 square feet

409; 7M0000MXCXM0742B

FT Form A OC04 (30)

19 feet

12 feet
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17. Hay dos pilas de cartas numeradas. Una pila
tiene cuatro cartas y la otra tiene tres cartas. 
La pila con cuatro cartas incluye cartas con los
números 2, 4, 8, y 15. La otra pila incluye cartas
con los números 1, 4 y 9.

Se elige una carta al azar de cada pila.

¿Cuál es la probabilidad de que la suma de 
las cartas numeradas sea mayor que 12?

A.

B.

C.

D.

10229; 7M0000DAHXM1566C

FT Form H Sp06 (12)

6
12

5
12

4
12

3
12

18. La figura que se muestra a continuación está
formada por un rectangle y un semicircle.

¿Cuál es el area aproximada de esta figura?

A. 228 pies cuadrados

B. 285 pies cuadrados

C. 341 pies cuadrados

D. 454 pies cuadrados

409; 7M0000MXCXM0742B

FT Form A OC04 (30)

19 pies

12 pies
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20. The model shown can be used to solve the equation 2x + 4 = 12. 

Which model shows a step in solving this equation? 

A.

B.

C.

D.

5784; 7M0000AXIXL1270C

FT Form I Sp06 (15)

x

x
=

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

x

x
=

1 1

1 1

1 1

1 1

x =

1 1

1 1

1 1

1 1

x =

1 1

1 1

1

1 1

x

x 1 1
=

1 1

1 1

1 1

1 1

1 1

1 1

1 1

Item 19  has not been slated for public release in 2010.
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20. El modelo que se muestra a continuación se puede usar para
resolver la ecuación 2x + 4 = 12. 

¿Cuál de los modelos muestra un paso para resolver 
esta ecuación?

A.

B.

C.

D.

5784; 7M0000AXIXL1270C
FT Form I Sp06 (15)

x

x
=

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

x

x
=

1 1

1 1

1 1

1 1

x =

1 1

1 1

1 1

1 1

x =

1 1

1 1

1

1 1

x

x 1 1
=

1 1

1 1

1 1

1 1

1 1

1 1

1 1

La pregunta número 1  no ha sido marcada para ser
hecha pública en el 2010.

9 
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21. The number of flowers on each of 8 bushes 
is shown in the table.

In your Answer Document, find the mean
number of flowers per bush and explain 
how the mean would change if the bush 
with 38 flowers is not included. Use
mathematics to support your explanation.

2321; 7M0000DXFXH0823S

FT Form E OC04 (11)

BA C D E F G H
1818 21 21 24 26 26 38Number of Flowers

Bushes

For question 21,
respond completely
in your Answer
Document. (2 points)

Mathematics

On the Spring 2010 Grade 7 Mathematics
Achievement Assessment, items 22–27 are field-test

items, which are not released.
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21. En la siguiente tabla se muestra la cantidad
de flores en cada uno de 8 arbustos.

En tu Documento de respuestas, averigua 
la mean de flores por arbusto y explica de
qué manera cambiaría la mean si el arbusto
con 38 flores no estuviera incluido. Usa
operaciones matemáticas para fundamentar
tu explicación.

2321; 7M0000DXFXH0823S

FT Form E OC04 (11)

B A C D E F G H 
18 18 21 21 24 26 26 38 Cantidad de flores

Arbustos

Debes responder a
la pregunta 21 de
manera completa
en tu Documento 
de respuestas.
(2 puntos)

En la Evaluación de Rendimiento de Matemáticas
de Séptimo Grado, administrada en Primavera de
2010, las preguntas 22 a la 27 son de prueba de

campo, lo cual significa que no es material público.
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29. The formula for changing the temperature

from Fahrenheit to Celsius is C = ,

where F is the Fahrenheit temperature and 

C is the Celsius temperature.

Hannah’s thermometer shows that the
outside temperature is 86°F. 

What is the temperature in degrees Celsius?

A. 6°C

B. 30°C

C. 35°C

D. 60°C

3020; 7M0000AXJXM1079B

FT Form A OC04 (18)

5(F – 32)
9

Item 28 has not been slated for public release in 2010.

Items 30–31 have not been slated for public release
in 2010.
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29. La fórmula para convertir la temperatura 

de Fahrenheit a Celsius es C = ,

donde F es la temperatura Fahrenheit y 

C es la temperatura Celsius.

El termómetro de Hannah muestra que la
temperatura exterior es de 86°F. 

¿Cuál es la temperatura en grados Celsius?

A. 6°C

B. 30°C

C. 35°C

D. 60°C

3020; 7M0000AXJXM1079B

FT Form A OC04 (18)

5(F – 32)
9

La pregunta número  no ha sido marcada para ser
hecha pública en el 2010.

28

Las preguntas  a la  no han sido marcadas
para ser hechas públicas en el 2010.

30 31
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32. Julio is designing a kitchen. He drew a scale
drawing of the kitchen as shown. 

The perimeter of the scale drawing is 10 inches.
The actual length of wall A will be 8 feet. 

What will be the perimeter of Julio’s 
actual kitchen?

A. 1.6 feet

B. 2.5 feet 

C. 18 feet 

D. 40 feet

1771; 7M0000MXEXM0778D

FT Form H SP06 (10)

2 inches
Wall A

Items 33–37 have not been slated for public release
in 2010.
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32. Julio está diseñando una cocina. Hizo un 
scale drawing de la cocina como se muestra 
a continuación.

El perimeter del scale drawing es de 
10 pulgadas. La longitud real de la 
pared A será de 8 pies.

¿Cuál será el perimeter de la cocina real 
de Julio?

A. 1.6 pies

B. 2.5 pies

C. 18 pies

D. 40 pies

1771; 7M0000MXEXM0778D

FT Form H SP06 (10)

2 
pulgadas

Pared A

Las preguntas  a la  no han sido marcadas
para ser hechas públicas en el 2010.

33 37
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38. Two cylinders with different radii have the 
same volume. 

Which statement is true?

A. The bases of the two cylinders 
must have the same areas. 

B. The cylinder with the smaller radius 
must be taller. 

C. The cylinder with the larger radius 
must be taller.

D. The heights of the two cylinders 
must be equal.

10199; 7M0000MXFXM1543B

FT Form J SP06 (14)

Item 39  has not been slated for public release in 2010.



Pasa a la página siguiente

Matemáticas M

55

38. Dos cylinders con distintos radii tienen el 
mismo volume.

¿Cuál de estas afirmaciones es verdadera?

A. Las bases de los dos cylinders deben 
tener la misma areas.

B. El cylinder con el radius más pequeño 
debe ser más alto.

C. El cylinder con el radius más grande 
debe ser más alto.

D. La altura de los dos cylinder debe ser igual.

10199; 7M0000MXFXM1543B

FT Form J SP06 (14)

La pregunta número 3  no ha sido marcada para ser
hecha pública en el 2010.

9 
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40. The original price of a camera was $60. It
was on sale at a 20% discount. Later, the
price of the camera was reduced by an
additional 25% of the sale price. 

What was the final price of the camera?

A. $33

B. $36

C. $45

D. $48

407; 7M0000NXIXM0556B

FT Form F OC04 (35)

For question 41,
respond completely
in your Answer
Document. (2 points)

41. Brian poured some water into the beaker shown.

In your Answer Document, estimate the amount
of water Brian has in the beaker, to the nearest
50 mL. Explain your reasoning for your estimate. 

9470; 7M0000MXDXM1532S

FT Form G SP06 (11)

800 mL

600 mL

400 mL

200 mL

1 Liter
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40. El precio original de una cámara era de $60.
Estaba en oferta con un 20% de descuento.
Después, el precio de la cámara se 
redujo en un 25% adicional sobre el precio
de oferta.

¿Cuál fue el precio final de la cámara?

A. $33

B. $36

C. $45

D. $48

407; 7M0000NXIXM0556B

FT Form F OC04 (35)

Debes responder a
la pregunta 41 de
manera completa
en tu Documento 
de respuestas. 
(2 puntos)

41. Brian colocó algo de agua en un vaso de
laboratorio, como se muestra a continuación.

En tu Documento de respuestas, calcula la
cantidad de agua que Brian colocó en el vaso
de laboratorio, hasta los 50 mL más próximos.
Explica tu razonamiento para el cálculo.

9470; 7M0000MXDXM1532S

FT Form G SP06 (11)

800 mL 

600 mL 

400 mL 

200 mL 

1 litro



MathematicsM

58

Items 42–43 have not been slated for public release
in 2010.
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Las preguntas 42 a la 43 no han sido marcadas
para ser hechas públicas en el 2010.
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44. A building is 900 feet tall and 150 feet wide. A
scale model of the building is 3 feet tall.

Which proportion can be used to find the
width, w, of the scale model?

A.

B.

C.

D.

12144; 7M0000GIJXL1899A

FT Form B SP08 (18)

45. Kelly’s teacher asked her to multiply 5 by 38.
Kelly says she can do the problem mentally.

Which expression could Kelly use to solve 
the problem?

A. 5(40 – 2) = 5(40) – 2

B. 5(30 + 8) = 5(30) + 8

C. 5(40 – 2) = 5(40) – 5(2)

D. 5(32 + 6) = 5(32) + 6

478; 7M0000NXEXM0743C

FT Form E OC04 (37)
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44. Un edificio tiene 900 pies de alto y 150 pies
de ancho. Un modelo a escala del edificio
tiene 3 pies de alto.

¿Cuál es la proportion que se puede 
usar para hallar el ancho, w, del modelo 
a escala?

A.

B.

C.

D.

12144; 7M0000GIJXL1899A

FT Form B SP08 (18)

45. El maestro de Kelly le pidió que multiplicara 
5 por 38. Kelly dice que puede resolver el
problema mentalmente.

¿Cuál es la expresión que Kelly podría usar
para resolver el problema?

A. 5(40 – 2) = 5(40) – 2

B. 5(30 + 8) = 5(30) + 8

C. 5(40 – 2) = 5(40) – 5(2)

D. 5(32 + 6) = 5(32) + 6

478; 7M0000NXEXM0743C

FT Form E OC04 (37)
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